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’\—\A‘{'DY\O\ X

= 6x6xb
= b
b) Nuwboer of ways = bX5XY

|- @) Nuwmber of ways

= 120

<) First d'lQ'l"" = A UJQHS (3,5)
Setend digit = 3 ways (3.5.7%)
Thiva dksi—\- = 3 ways (2,5,3)

Number ok ways = IX 3 x 32
= \¥

2. a) Number of ways = 5! x (6-1)

= 14400
k) Numbar od ways = 2! x(q-1)!
= 80640
¢) Number of ways - s1x(5-1)"!
= 28%0

d) Number ok ways = d X wl
= 34¢ 22600

3. a) Number of uvays = 5!

= 110
b) \f two sprintev Xe = °C,
= 1Q
\
Number ok mass = 1oX 4.
= 24O

_Scy x3¢C,

Ay He
SRR qroups OfF Aws SpY 20

30x 31
IR D

Nurvoer ok  waus
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Y.

a)The \ype of crovssan = 6

Number of croissant need 4o be selected , v = 12

‘Ltpev\-'\‘\"\ar\ of

c (ndv-y.v)
sc (bAv L, 12)
¢ ('3, 1)

N 131
lar (13 -t

13!
121 5

61%¥%

L’) h:(:

r =2y

6 t4pPes of croissant and ai

so \3 croigSany

clnrr-r, v)
= ¢ (¥, 11)
= C(va.2)

14!
tar (A-vad

s b\ ¥

c) 5 chaeolalR  crovgeant and 3 almond

the rqma\‘m‘mg is

crovasant 1S alocwed

\east 3 need to be serected,

“a setxiled needed +o select +the vamlm“s

ay-%=lb.

13 ¢roissant

croissamt ave gelected,

b crOisSan need to bR gelected from 6 types of croissamns.

n=\b
r = 1b
cCnar-1,v)
s ¢ (6415, 16)
= ¢ (v, 16)
atl
by (31-16)1)

= 20349
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5. a)
There ave 2 seamS  ¥€am RN and deawm §

Tox each rounds , ave 3 ogMons ! team R win yteam B owin  or tie

Among 4 kicks , 9 wins
C(y,2) : gy

31 (y-3))
= 6
hmong 2 kicks , 1 wan
¢ (3.4y = a3
(3!
=3
Nexd, nead 40 have +4he resuM in oitker a win or o *HiR
1 wins and | gegfwing = C(W2) x((3,1) *2
= 6 X 2 x2
= 36
3
| win and 3 Hhes/wins = CCa.) x C(ya) ¥ a
= 3 xyx3
= A6

Number of Scenavios = 3 x (3649b)
= 2X132
= 26y

b) vbSS'|b\Q oVt comes of (0 pena\m tiChQ,

10

3 = IQJL‘

ooy = 326Y=3¢60 (num\oer of ScenarioS regul

[
ke * the game Ahwad MA being Sedtieq

Nuroer of scenarios - 360 x d6Y

200640
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C) In Ahe Sudden death shootouis , theve ore

2’ 00'\:\0‘\8 .\Q\ each Yound:
win foy +eom B , wie for deams B and he

Tirs4 vound and Seconrd toUnd = 7gp SCepavrios
Qudden death = °x 5
= \O gcenancs

Number of Sceonovios

360 xALO X\
5336000
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\°

H
o4t 536

Poceible anguwer sheetr

Ley piQeons = stud et

Piqeonnoles = tougsd 6

n -
lougsib

»
]

A09 315 2,
apq3\s52

=
1]

Lea A = ‘msced N h‘\e\era
® = passed n Maihg

P(n) - 0-35
P(®) s 065
?(Aﬂb) = 0.5

P(AVR) = PCR) + P(R) ~P(ANG)

=0-9S 4+ 0.65 - 0.5

= 0.9
P(aUB) - +.0-0-.9
s 0.1
22 - o
K
" = 3350

Total = 350
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g.

Total number of neqers  bedueen 300 and AQp

= 330 - 300 4}

* 4§l

1 oin 1 dign t 3 __ = 30V, 310,312, 313, 31y, 315, 316, 313, 31T, 219,

33y, 331, 341, 250 . 361,371,381, 3q)
= 18 Megers

H_ - = \% 'm«tg(’rs

—_— e (8 '\r\.\-geers
‘”_.___ 1 inieqers
F_ — = a0r, Ho, 12,3, 3w, 5,3 1, N1, 1R, 914,30, 33

jul, 451, 161,331

't 'neqers

! in J -L'lg.i'\!h' in s uny, 501, 611,30 =5 3'\'\(‘3973

Tota)l = (1@ x4)Alb & §
=43

Yrovabi it Y = a3
hg!

= 0.12332

a) Number of ways
=|°C . x ‘.‘.
4 % 2

= 3150 ways

b) Numoer of ways

6!
<Y, % x AL
Yixal H
: 105
onbo)dn\'r\a - 105
3150
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10. P(ewmail) = p.y
P (letrer) =01
p (hardprone ): 0.5
P (receiveremann) = Q-©
P ( receive) terrer) = O-8
0 Creceive | han«lghon&) = 1.0

a) P(vecelyve )= P(eman)) vtre(e\volem‘\\) + P(\erxer) p(veceive) jeater) 4

© Cnond grane ) P (receivel handghane)
=(0-4)(0o-6) &+ Co)OR) & (0.S) (\.0)

0-34 4 0.k 1 0'5
0-33

b) Q(recewe N email) = (0.4) (ob)
= 0.2y

P (emait \receive ) = P (email O veeRive)
| ? (veceiwe)

o.M
o-R1
- 0.3236%

Scanned with CamScanner



II. Led B care

G r lignd Aructs 0-b
¥': faral accidem <
D .y

F' = nonfala) accideny

P (F\®)e 20

\0 ooD
= 0.000X
PLF\E) T 25
100 00D
T 0.00035
P(R) =o.y

Plony)

0-00D25 x ©.Y4

0-000)

P(F) = (0-00025)(0-4)+ (0.0002)(0-b)
- 000D

P(Lip) = P(LAF)
P(F)

- ©0-:oono!
= OO0
0-0Q033

o-usSks

N

0.000L §

o.Ooolc‘_‘
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13. Nymber of posSiBIQ ways can 9 letters into N boxes = 49
= 36214 Y

\f al the leterS ave puk in one box = ¢, X I
=4
\& aw Ahe 1RYYYS ave YA in 4uwan boxes - q(’_; .N.Jﬁ
= 30% 3

It an e letrere are pwt in dhree puxes =qC; X aq
- 38332

No. of uvayas 4hod ot least ope leMer 10 each of +hwe box
= 362\4Y - 3g332-30%2 -4
= 1%0336



